Proofs on the Ch. 2 Test




[. GiveNn
2. Distributive,

3. Addvhien
4 DINSION



N\
piven: PQ=€S  Frive: PR=Q5 \
(tafements

. PQ=RS
2 Pa+QR=Rs+QR |2 Ackition
5. YR=FQ+QR 3 Segmaent Add tHon

Q5= QRYRS RSt
1 PR=QS 4 Sulostiution

|. Given




@iven: LI ond LS wre complementary
47 ond £% are compkmentary

nve: L) £ 19

Ctmfements

|. 21\ LD melamﬂnﬁf\j \. Given

{2, 46 eomplemtmnry o
2 mi\+ i3 =90 2. deeintion of

ML ¥ mia =]Q mflcmgrﬂur‘y
3 mLivmid= mL2 v mlD 3. substtiution
4 mLl=mlZ 4 Sulstracthon

5. /\ £ L)L g definion 6F X



